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Block 1:
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P4+ P8+ P11,0

11 =x1,0

o =x11

221 = x20

225 = Xx2.1
2311 = x3,0
2312 = x3.1
2521 = Xa,0
2522 = X4,1
15401 = X5+
17501 = X9,0
17502 = X9,1
45001 = x12,0
45002 = X12,1
47521 = x13,0
47522 = x13,1
51031 = x14,0
51032 = x14,1
55441 = X150
55442 = 15,1
160381 = X16+
165001 = X18+
96251 = x20,0
96252 = x20,1
207901 = X23+
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Block 2: ©6,0
8961 = X7,0 1
8962 = x7,1 1

Block 3: | ¢79
8963 = X8,0 1
8964 = X8,1 1

Block 4: | pi0,0

35201 = Xl0,0 1
35202 = X10,1 1
35203 = X1170 1
35204 = X111 1
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Block 6: | p14+ @15+ @16+ P17+ P18+ Plo+ P20+ P21+
2523 = Xo5+ 1
2524 = X26+ . .
15841 = X27+ 1 1 1
39601 = X28+ . 1
47523 = X209+ 1
47524 = X30+ 1 . 1
50401 = X31+ 1 .
50402 = X32+ . 1 .
55443 = X33+ 1 1 1
95041 = X34+ 1 1 ? 1
102061 = X35+ . . 5 .
157501 = X38+ 1 1 .
160382 = X39+ 1 1 1 1 .
160383 = X40+ . 1 1 1 . .
207902 = X42+ 1 1 1 1 . .
207903 = X43+ 2 1 2 .
207904 = X44+ . 1 2 2 1 .
247501 = X45+ 1 1 1 2




Yrar = 2524
P15+ = 252
P+ = 7921
Y174 = 792
Block 7: P22+
126721 = X36+ 1
126722 = X37+ 1
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